Population Growth I
Exponential Growth
    If there are no limiting factors to keep a population from growing, the result is called exponential growth.  In such a situation, as the population gets bigger, there are more individuals that can reproduce and the numbers grow in “leaps and bounds”.  In the following lab, you will simulate the exponential growth of a population of houseflies.  For this simulation, you will need one die (that is half of a pair of dice).  NOTE: Always drop the decimal (round down).
Procedures:

1.  Let’s assume that we start with a population of 2 flies.  Enter 2 in the Starting population column for Generation #1 in the data table.  This number will be different for each generation (it will go up).
2.  Next, assume that half of the flies are females that are capable of laying eggs (that is the way flies reproduce).  So, divide the Starting population by 2 and enter the answer in the # of females column.
3.  Now roll the die.  Take the number you roll times 5.  Your answer is the number of eggs that each of the females will lay.  Record that number in the Eggs/female column.  This number can only be between 5 and 30.
4.  Multiply the # of females times the Eggs/female.  This will give you the number of offspring.  Record your answer in the # of offspring column.

5.  Add the # of offspring to the Starting population and record that answer in the Total flies column.  This number will get very large!
6.  Now, to the next generation.  To be realistic, all of the flies from one generation to the next will not make it because of predators and flyswatters.  So, take the number that you recorded at the end of the previous generation and reduce it by 10%.  (To do that, multiply the Total flies by .9) Record this total in the Starting population column for the next generation.
7.  Repeat the above steps for 5 more generations.

8.  Once you have the data table filled out, make a line graph using the Total flies column for each generation.
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Hint:  Divide Generation #6 Total flies by 35 and round to get the scale for the y-axis (dependent variable).
Questions:

1.  Does your graph most represent a straight line, a J-shaped curve, or an S-shaped curve?  _______________
2.  Why did the growth start out slowly and then increase drastically? ______________________________

______________________________________________________________________________________

______________________________________________________________________________________
3.  Why might this simulation be inaccurate?  _________________________________________________

______________________________________________________________________________________

4.  If a person wanted to slow down the growth of the fly population using natural methods, what could they do? ____________________________________________________________________________________________________________________________________________________________________________________
